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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

1-  Some vegetarians are not just indifferent to meat; they have a/an —--—-------- toward it.
1) immorality 2) tendency 3) antipathy 4) commitment

2- A recent study shows that the prevalence and sometimes misuse of cell phones and
computers has led to a/an --=-------- in some people about the benefits of technology.
1) ambivalence 2) distinction 3) encouragement  4) compromise

3- My niece has a ~---=---- --- imagination. She can turn a tree and a stick into a castle and a
wand and spend hours in her fairy kingdom.
1) vacuous 2) vivid 3) cyclical 4) careless

4-  The singer's mellifluous voice kept the audience -——-—-—-- for two hours.
1) disputed 2) disregarded 3) frustrated 4) enchanted

5-  His family, relatives, and friends still cling to the hope that Jeff will someday ----eeeeex
himself from the destructive hole he now finds himself in.
1) evade 2) prevent 3) deprive 4) extricate

6- Logan has been working long hours, but that is no excuse for him to be -—-—-—-ne- to
customers.
1) ingenious 2) intimate 3) discourteous 4) redundant

7-  Although he was found ------------, he continued to assert that he was innocent and had
been falsely indicted.
1) critical 2) guilty 3) problematic 4) gloomy

8- The old sailor's skin had become wrinkled and -- --- from years of being out in the
sun and the wind.
1) desiccated 2) emerged 3) intensified 4) exposed

9-  The promoters conducted a survey to study the --------- --- of the project before investing
their money in it.
1) impression 2) visibility 3) feasibility 4) preparation

10- That is too ---—--- ---- an explanation for this strange phenomenon—I am sure there's
something more complex at work.
1) simplistic 2) lengthy 3) profound 4) initial
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Some researchers investigated the effect of listening to music by Mozart (11) ~==eeemeem-
spatial reasoning, and the results were published in Nature. They gave research
participants one of three standard tests of abstract spatial reasoning (12) ~—=-eeeeeeee
each of three listening conditions: the Sonata for Two Pianos in D major, K. 448 by
Mozart, verbal relaxation instructions, and (13) ----- . They found a temporary

enhancement of spatial-reasoning, (14) ----------—- spatial-reasoning subtasks of the
Stanford-Binet 1Q test. Rauscher et al. show that (15) ~=—=eeeeeeem the music condition is
only temporary.

11- 1)in 2) for 3)of 4) on

12- 1) having experienced 2) after they had experienced
3) to be experiencing 4) to experience

13- 1) silence 2) was silent 3) there was silent  4) of silence

14- 1) then measured 2) that was measured
3) as measured by 4) to be measuring

15- 1) the effect of the enhancement of
2) the enhancing effect of
3) enhances the effect of
4) is enhanced by

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

The primary sensory structure that accomplishes transduction is the nociceptor. Most
nociceptors are free nerve endings that sense heat, mechanical and chemical tissue
damage. Several types are described: 1) mechanoreceptors, which respond to pinch
and pinprick. 2) silent nociceptors. which respond only in the presence of
inflammation, and 3) polymodal mechanoheat nociceptors. The last are most prevalent
and respond to excessive pressure, extremes of temperatures and algogens (pain
producing substances). Polymodal nociceptors are slow to adapt to strong pressure and
display heat sensitization. Recently. vanilloid receptor-1 was isolated from the sensory
neurons. Vanillins are a group of compounds, including capsaicins that cause pain.
Nociceptors and their neurons display sensitization following repeated
stimulation. Sensitization of nociceptors results in a decrease in threshold, an increase
in frequency response, a decrease in response latency and spontaneous firing even
after cessation of the stimulus (after discharges). This primary hyperalgesia is
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mediated by release of algogens like histamine. bradykinin and leukotrienes from
damaged tissues.

Secondary hyperalgesia or neurogenic inflammation is manifested by the triple
response of flare. local edema and sensitization to noxious stimuli. It is primarily due
to antidromic release of Substance P from collateral axons of primary afferent neurons.
Substance P degranulates histamine and serotonin, vasodilates blood vessels, causes
tissue edema and induces formation of leukotrienes.

Which Kinds of nociceptors are the most common for responding to high temperatures
and algogens?

1) Silent nociceptors 2) Chemoreceptors

3) Polymodal nociceptors 4) Mechanoreceptors

Which of the following phenomena occurs due to sensitization of nociceptors?
1) Elevation in frequency response. spontancous firing and response latency
2) Reducing spontaneous firing, threshold and frequency response

3) Reduction in threshold, response latency and frequency response

4) Elevating frequency response and reducing response latency and threshold
The term “hyperalgesia” in the second paragraph refers to-----—---eceeeee :

1) Increasing algogens like histamine and leukotrienes

2) Increasing the sense of pain in the body

3) Releasing algogens from damaged tissues

4) Decreasing sense of pain

Which of the following are mentioned in the passage as the functions of Substance P?
1) Tissue edema. formation of leukotrienes and enlargement of blood vessels
2) Induction of leukotrienes. constriction of blood vessels and tissue edema
3) Enlargement of blood vessels and break down of leukotrienes

4) Constriction of blood vessels, tissue edema and formation of leukotrienes
Which statement is true about the release site of Substance P?

1) It originates from axons of primary entering neurons

2) It comes from collateral axons of primary exiting neurons

3) It comes from primary efferent neurons

4) It is released by dendrites of primary afferent neurons

PASSAGE 2:

Atorvastatin and simvastatin are some of the most widely used statins in the treatment
of hypercholesterolemia. and they are highly efficacious and tolerable. However, they
can also result in tendinopathies. Recent studies have shown that statins are
responsible for inhibiting the secretion of metalloproteinases (MMPs) in lung
fibroblasts and endothelial cells. Furthermore. they reduce the expression of collagen |
in smooth muscle. Of note, tendons are formed primarily by collagen I, and MMPs
play an important role in maintaining and remodeling the extracellular matrix in
tendons.

In addition to lowering cholesterol and inhibiting MMPs, statin use has also been
shown to promote apoptosis in fibroblasts, further suggesting an association between
statin use and tendon rupture. Together, these factors can weaken the integrity of the
tendon tissue and thus predispose the tendon to rupture. Statins are widely prescribed



.}."’n)' ww,lf Q,n}TMQM T fé«nﬁ)&w

R 831A (18+Y) a5 = (S 3aold (55999 jud

21-

22-

24-

medications with various clinical benefits. including the prevention of myocardial
infarction and the formation of atherosclerotic plaques. Besides. it has been shown that
the clinical benefits associated with statins are either independent of or indirectly
dependent on a reduction in LDL-cholesterol. Despite being quite effective medicines.
statins have some adverse effects, including constipation, headaches, sleep
disturbances, and other serious effects, such as hepatotoxicity and musculoskeletal
complications. More recently, cases of tendinitis and tendon ruptures have been
associated with the use of statins. These complications have been observed in several
tendons. including the distal biceps, the patellar, the quadriceps and the 4 Achilles
tendons, the latter of which are commonly injured.

What tendinopathies are linked to statins?

1) Inflammation and hardness 2) Inflammation and rupture

3) Rupture and hardness 4) Dislocation and inflammation
The most tissue destructive effects of statins are on ———---eeceeeeeee,

1) blood tissue 2) bone tissue

3) connective tissue 4) muscular tissue

Which organ system does not suffer the side effects of statins?

1) Skeletal system 2) Urinary system

3) Nervous system 4) Digestive system

Regarding to the effects of statins, which statement is correct?

1) They have some anti-inflammatory effects.

2) Consumption of statins results in induction of atherosclerotic plaques.
3) Decrease in LDL-cholesterol is directly related to their benefits.

4) A useful effect of them is on cardiovascular system.

Which tendons are most involved in complications induced by statins?

1) Achilles tendon 2) Distal biceps
3) Patellar tendon 4) Quadriceps tendon
PASSAGE 3:

Some of the neurochemical mediators of central sensitization include cholecystokinin,
angiotensin, galanin, L-glutamate and L-aspartate. These substances trigger changes in
membrane excitability by interacting with G-protein coupled receptors, activating
intracellular second messengers, which in turn phosphorylate substrate proteins. A
common pathway leads to increased intracellular calcium concentration. For example
glutamate and aspartate activate the NMDA receptor. Stimulation of ionotropic
NMDA receptors causes intraneuronal elevation of calcium, which stimulates nitric
oxide synthase and the production of nitric oxide. This chemical has been implicated
in the development of hyperexcitability, resulting in hyperalgesia or allodynia, by
increasing nociceptive transmitters at their central terminals.

Supraspinal inhibition of the pain occurs whereby several supraspinal structures send
fibres down the spinal cord to inhibit pain at the level of the dorsal horn. These include
periaqueductal gray, reticular formation, and nucleus raphe magnus. Axons from these
structures act pre-synaptically on the primary afferent neurons and post-synaptically
on second-order neurons (or interneurons). These inhibitory pathways utilize
monoamines, such as noradrenaline and serotonin, as neurotransmitters and terminate
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on nociceptive neurons in the spinal cord as well as on spinal inhibitory interneurons

which store and release opioids.

The changes by neurochemical mediators affect all the following structures EXCEPT
1) substrate proteins 2) second messengers
3) G-protein receptors 4) cytoplasmic organelles
Activation of the NMDA receptor takes place by ~—--eeeeeeeeeee
1) aspartate and glutamate 2) glutamate dnd cyclamate
3) cyclamate and aspartate 4) gluconate and aspartate
Nitric oxide is responsible for inducing which of the following?
1) Blocking transmitters 2) Increasing pain
3) Decreasing pain 4) Increasing acidity
Which of the following is NOT considered as a supraspinal structure involved in pain
inhibition?
1) Reticular formation 2) Peri aqueductal gray
3) Nociceptive transmitters 4) Nucleus raphe magnus
Which monoamines are utilized as neurotransmitters in inhibitory pathways?
1) All kinds of neurotransmitters 2) Serotonin and noradrenaline
3) Noradrenaline and adrenaline 4) Adrenaline and serotonin
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